Wor	nens - O35
Ranking	Country
	England
	Australia
3	Spain
	Netherlands
5	New Zealand
	Germany
	USA
	Sri Lanka
9	Wales
10	Argentina
10	Belgium
	Canada
10	France
10	Ghana
10	Ireland
10	Italy
10	Japan
10	Malaysia
10	Scotland
10	Singapore
10	South Africa

	Continenta	l Cup - 201	7		World Cu	лр - 2018			Continenta	Cup - 201	9
Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
				1	50	2	100	1	50	3	150
				2	28	2	56				
				3	17	2	34				
								3	13	3	39
				4	11	2	22		•		4.0
				_		•	40	4	6	3	18
				5 6	6 1	2	12 2				
				б	1	2	2	5	1	3	3
	0		0		113		226		95		285

	3-Year Res	sults
Total	Total	Ranking Points
Weighted	Weight	20191231
Points		
250	5	50.00
56	2	28.00
109	5	21.80
39	3	13.00
22	2	11.00
18	2 5 3 2 3 2 2 2	6.00
12	2	6.00
2	2	1.00
3	3	1.00
511		137.80
511		137.80

Notes:

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

u L	kampie baseu	on womens c	JOS TATIK	ing points 2	0191231
ng	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	1 England	50.00	E	1	Current World Champions
	2 Australia	28.00	AO	2	! Highest ranked at last world cup
	3 Spain	21.80	Е	2	! Highest ranked at last world cup
	7 USA	6.00	AP	2	! Highest ranked at last world cup
	4 Netherlands	13.00	E	3	Highest in last CC not otherwised qualified country
	5 New Zealand	11.00	AO	4	2nd highest ranked in region - no regional cup
	8 Sri Lanka	1.00	AP	4	2nd highest ranked in region - no regional cup
	6 Germany	6.00	E	5	Highest ranked not otherwised qualified country
	9 Wales	1.00	E		•
1	0 Argentina	0.00	AP		
1	0 Belgium	0.00	Е		
1	0 Canada	0.00	E		
1	0 France	0.00	E		
1	0 Ghana	0.00	AP		
1	0 Ireland	0.00	E		
1	0 Italy	0.00	E		
1	0 Japan	0.00	AO		
	0 Malaysia	0.00	AO		
	0 Scotland	0.00	Ε		
1	0 Singapore	0.00	AO		
	0 South Africa	0.00			
		137.80			

Mens - 035			Continenta	I Cup - 201	17		World Cu	up - 2018		(Continental	Cup - 201	9
Ranking	Country	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
	Australia				-	1	50	2	100				-
	England				-	2		2	62	1	50	3	150
3	Germany				-	3	21	2	42	2	31	3	93
4	Ireland				-				-	3	21	3	63
5	Scotland				-	4	15	2	30	4	15	3	45
6	South Africa				-	5	10	2	20				-
7	Spain	2	15	1	15	6	5	2	10	5	10	3	30
8	Netherlands	1	50	1	50			2	-			3	-
9	Wales	3	1	1	1	7	1	2	2	6		3	15
10	Denmark				-				-	7	1	3	3
11	Argentina				-				-			3	-
11	Belgium				-				-			3	-
	Canada				-				-			3	-
11	France				-				-			3	-
11	Italy				-				-			3	-
11	Japan				-				-			3	-
11	Malaysia				-				-			3	-
11	New Zealand				-				-			3	-
11	Singapore				-				-			3	-
	USA				-				-			3	-
			66		66		133		266		133		399

3-	Year Result	ts
Total	Total	Ranking
Weighted	Weight	Points
Points		20191231
100	2	50.00
212	2 5 5 3 5 2 6	42.40
135	5	27.00
63	3	21.00
75	5	15.00
20	2	10.00
55		9.17
50	6	8.33
18	6	3.00
3	3	1.00
-	3	-
-	3	-
-	3	-
-	3	-
-	3	-
-	3	-
-	3	-
-	3 3 3 3 3 3 3 3 3 3	-
-	3	-
-	3	-
731		186.90
731		186.90

Notes:

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

The weighted total points are divided by the sum of the weightings for the number of eligible tournaments to give the ranking points

Morked C	vemple Deced	n Mana O25 r	onkina i	nainta 2010	1004
Seeding	xample Based of Country			Division A	
	l Australia		۸۸	4	Current World Champions
		50.00			Current World Champions
	2 England	42.40			Highest ranked at last world cup
	South Africa	10.00			Highest ranked at last world cup
	3 Germany	27.00			Highest in last CC not otherwised qualified country
4	l Ireland	21.00	E	5	Highest ranked not otherwised qualified country
Ę	5 Scotland	15.00	E	5	Highest ranked not otherwised qualified country
7	⁷ Spain	9.17	E	5	Highest ranked not otherwised qualified country
8	Netherlands	8.33	E	5	Highest ranked not otherwised qualified country
Ç) Wales	3.00	E		
10) Denmark	1.00	E		
11	l Argentina	0.00	AP		No involvement to date therefore not ranked so not in Division A
	l Belgium	0.00	E		
	l Canada	0.00	AP		
11	l France	0.00	E		
11	l Italy	0.00	E		
	l Japan	0.00			No involvement to date therefore not ranked so not in Division A
	Malaysia	0.00			No involvement to date therefore not ranked so not in Division A
	New Zealand	0.00			
	Singapore	0.00			
	l USA	0.00			
I	USA	0.00	∧ Γ		

186.90

Wo	mens - O40							
Ranking	Country							
	Argentina							
	England							
_	Australia							
	Netherlands							
5	Germany							
6	Ireland							
	South Africa							
	Spain							
_	New Zealand							
10	Zimbabwe							
	Wales							
	USA							
	France							
	Scotland							
15	Italy							
16	Ghana							
	Belarus							
18	Belgium							
18	Canada							
18	Japan							
18	Malaysia							
18	Singapore							

		l Cup - 201				ıp - 2018			Continental		
Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
				1	50	2	100				
3	24	1	24	3	33	2	66	1	50	3	150
				2	39	2	78				
1		1		4	29	2	58			3	
2		1		5	24	2		3		3	
4	18	1	18	6	21	2	42	4	21	3	63
				8	15	2					
5	13	1	13	7	18	2	36	6	11	3	33
				9	12	2	24				
	_			10	10	2	20	_			
6	8	1	8	14	3	2	6	5	16	3	48
				11	8	2			_	•	0.4
			4	15	2	2	4	7		3	21
8		1		13 12	4	2		8	4	3	12
· '	4	ı	4	12	6	2	12	9	1	3	3
				16	1	2	2	9	I	3 3	0
				10	'	2	2			3	ŭ
	151		151		275		550		172		516 Check

	Year Resul	ts
Total	Total	Ranking
Weighted	Weight	Points
Points		20191231
100	2	50.00
240	6	40.00
78	2	39.00
213	6	35.50
162	6	27.00
123	6	20.50
30	2	15.00
82	6	13.67
24	2	12.00
20	2	10.00
62	6	10.33
16	2	8.00
25	5	5.00
21	6	3.50
16	6	2.67
3	3	1.00
2	5	0.40
1017		200 55
1217		293.57
1217		293.57

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3. The weighted total points are divided by the sum of the weightings for the number of eligible tournaments to give the ranking points

.u L	.xampic basca (on wontens c	TO TAITIN	ing points	20101201
ng	Country	Ranking	Region	Division A	A Reason
		Points			
		20191231			
	1 Argentina	50.00	AP		1 Current World Champions
:	2 England	40.00	Е		2 Highest ranked at last world cup
;	3 Australia	39.00	AO		2 Highest ranked at last world cup
•	7 South Africa	15.00	AP		2 Highest ranked at last world cup
	4 Netherlands	35.50	Е		4 Highest in last CC not otherwised qualified country
!	9 New Zealand	12.00	AO		4 2nd highest ranked at last world cup - no regional cup
1	0 Zimbabwe	10.00	AP		4 2nd highest ranked at last world cup - no regional cup
	5 Germany	27.00	E		5 Highest ranked not otherwised qualified country
(6 Ireland	20.50	E		
;	8 Spain	13.67	E		
1	1 Wales	10.33	E		
1:	2 USA	8.00	AP		
13	3 France	5.00	E		
1	4 Scotland	3.50	E		
1:	5 Italy	2.67	E		
1	6 Ghana	1.00	AP		
1	7 Belarus	0.40	E		
18	8 Belgium	0.00	E		
18	8 Canada	0.00	AP		
18	8 Japan	0.00	AO		
18	8 Malaysia	0.00	AO		
	8 Singapore	0.00	AO		
	.	293.57			

М	ens - O40		Continenta	l Cup - 201	17	World Cup - 2018 Continental Cup - 20					Cup - 2019	9	
Ranking	Country	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
1	Spain	2	33	1	33	2	38	2	76	1	50	3	150
2	England	3	24	1	24	1	50	2	100	3	27	3	81
3	Argentina				-	3	32	2	64				-
4	France	7	4	1	4	4	28	2	56	2	35	3	105
5	USA				-	6	20	2	40				-
6	Netherlands	1	50	1	50			2	-	4	21	3	63
7	Australia				-	7	17	2	34				-
8	Wales				-				-	5	16	3	48
9	Germany	4	18	1	18	5	23	2	46	7	7	3	21
10	South Africa				-	8	14	2	28				-
11	New Zealand				-	9	11	2	22				-
12	Scotland	5	13	1	13	11	7	2	14	6	11	3	33
13	Ireland	6	8	1	8	10	9	2	18	8	4	3	12
14	Omam				-	13	3	2	6				-
15	Italy	8	1	1	1	12	5	2	10	9	1	3	3
16	Sri Lanka				-	14	2	2 2	4				-
17	Denmark				-	15	1	2	2			3	-
18	Belgium				-				-			3	-
18	Canada				-				-			3	-
18	Japan				-				-			3	-
18	Malaysia				-				-			3	-
18	Singapore				-				-			3	-
		-	151		151		260		520		172		516
		B											Check

3-Year Results								
Total	Total	Ranking						
Weighted	Weight	Points						
Points		20191231						
259	6	43.17						
205	6	34.17						
64	26262362266262533333	32.00						
165	6	27.50						
40	2	20.00						
113	6	18.83						
34	2	17.00						
48	3	16.00						
85	6	14.17						
28	2	14.00						
22	2	11.00						
60	6	10.00						
38	6	6.33						
6	2	3.00						
14	6	2.33						
4	2	2.00						
2	5	0.40						
-	3	-						
-	3	-						
-	3	-						
-	3	-						
-	3	-						
1,187		271.90						
1,187		271.90						

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

The weighted total points are divided by the sum of the weightings for the number of eligible tournaments to give the ranking points

a E	zampie Based	on Mens 040	ranking	points 2018	91231
g	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	2 England	34.17	E	•	1 Current World Champions
	1 Spain	43.17	E	2	2 Highest ranked at last world cup
	3 Argentina	32.00	AP	2	2 Highest ranked at last world cup
	7 Australia	17.00	AO	2	2 Highest ranked at last world cup
	4 France	27.50	E	4	4 Highest in last CC not otherwised qualified country
	5 USA	20.00	AP	4	4 2nd highest ranked at last world cup - no regional cup
1	1 New Zealand	11.00	AO	4	4 2nd highest ranked at last world cup - no regional cup
	6 Netherlands	18.83	E	į.	5 Highest ranked not otherwised qualified country
	8 Wales	16.00	E		
	9 Germany	14.17	E		
1	0 South Africa	14.00	AP		
1	2 Scotland	10.00	E		
1	3 Ireland	6.33	E		
1	4 Omam	3.00	AO		
1	5 Italy	2.33	E		
1	6 Sri Lanka	2.00	AO		
1	7 Denmark	0.40	E		
1	8 Belgium	0.00	E		
1	8 Canada	0.00	AP		
1	8 Japan	0.00	AO		
	8 Malaysia	0.00	AO		
1	8 Singapore	0.00	AO		
		271.90			

Womens - O45						
Ranking	Country					
_	-					
1	Netherlands					
2	England					
3	Australia					
4	Spain					
5	New Zealand					
6	Germany					
	USA					
8	Russia					
9	Ireland					
10	Scotland					
11	France					
12	Wales					
13	Argentina					
14	Belgium					
14	Canada					
14	Italy					
	Japan					
	Malaysia					
	Singapore					
	South Africa					

Continental Cup - 2019				World Cup - 2018				Continental Cup - 2017			
Weighted Points	Weight	Allocated Points	Finished	Weighted Points	Weight	Allocated Points	Finished	Weighted Points	Weight	Allocated Points	Finished
15	3	50	1	100	2	50	1	50	1	50	1
7	3	24		74	2	37	2	28	1		2
				50	2	25	4				
9	3	33	2	20	2	10	_	6	1	6	5
				40	2	20	5				
5	3	18	4				_				
	_			26		13	7				
	3	40		60		30	3	47		47	
3	3		_	14 34	2	7 17	9 6	17	1	17	3
2	3			34 10	2	5	10	1	1	1	6
1			7	2	2	1	12	11	1		4
	J	7	-	6	2	3	11		•		,
45		151		436		218		113		113	
Check		101		430		۷10		113		113	

	3-Year Re	sults
Total	Total	Ranking Points
Weighted	Weight	20191231
Points		
300	6	50.00
174	6	29.00
50	2	25.00
125	6	20.83
40	2	20.00
54	3	18.00
26	2	13.00
60	5	12.00
70	6	11.67
37	5	7.40
35	6	5.83
25	6	4.17
6	2	3.00
1002		219.90
1002		219.90

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

Worked Example Based on Womens O45 ranking points 20191231 Seeding Country Region Division A Reason Ranking **Points** 20191231 1 Current World Champions 1 Netherlands 50.00 E 2 Highest ranked at last world cup 2 England 29.00 E 3 Australia 25.00 AO 2 Highest ranked at last world cup 7 USA 13.00 AP 2 Highest ranked at last world cup 4 Highest in last CC not otherwised qualified country 4 Spain 20.83 E 4 2nd highest ranked at last world cup - no regional cup 5 New Zealand 20.00 AO 18.00 E 5 Highest ranked not otherwised qualified country 6 Germany 5 Highest ranked not otherwised qualified country 8 Russia 12.00 E 9 Ireland 11.67 E 10 Scotland 7.40 E 5.83 E 11 France 12 Wales 4.17 E 13 Argentina 3.00 AP 2nd highest ranked at last world cup - no regional cup but outside top 12 14 Belgium 0.00 E 14 Canada 0.00 E 14 Italy 0.00 AP

There was no division B previously so no qualifier

0.00 AO

0.00 AO

0.00 AO

0.00 AP 219.90

14 Japan

14 Malaysia14 Singapore

14 South Africa

IV	lens - O45		(Continenta	l Cup - 20°	17		World Cu	ıp - 2018		(Continenta	Cup - 201	9
Ranking	Country		Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
1	Netherlands	1 '	1	50	1	50	2	38	2	76	4	21	3	63
2	England		2	36	1	36	3	32	2	64	3	27	3	81
3	Scotland		6	13	1	13	13	3	2	6	1	50	3	150
4	Germany		4	22	1	22	7	17	2	34	2	35	3	105
5	Spain		3	28	1	28	1	50	2	100	7	7	3	21
6	Australia					-	6	20	2	40				-
7	France		10	1	1	1	4		2	56	5	16	3	48
8	Ireland		5	17	1	17	5	23	2	46	6	11	3	33
9	New Zealand					-	8	14	2	28				-
10	Ghana		9	3	1	3	9	11	2	22				-
11	USA					-	11	7	2	14				-
12	Wales		7	9	1	9	10	9	2	18	8	4	3	12
13	Malaysia					-	12	5	2	10				-
14	Italy		8	6	1	6	15	1	2	2	9	1	3	3
15	Argentina					-	14	2	2	4				-
16	Belgium					-				-			3	-
16	Canada					-							3	-
16	Japan					-				-			3	-
16	Malaysia					-				-			3	-
16	Singapore					-				-			3	-
16	South Africa					-				-			3	-
	<u> </u>	1		185		185		260		520		172		516

3-	Year Result	ts							
Total	Total	Ranking							
Weighted	Weight	Points							
Points		20191231							
189	6	31.50							
181	6	30.17							
169	6	28.17							
161	6	26.83							
149	6	24.83							
40	2 6 6	20.00							
105	6	17.50							
96	6	16.00							
28	2	14.00							
25	3	8.33							
14	2	7.00							
39	2 3 2 6 2 6 2 3 3 3 3 3 3 3	6.50							
10	2	5.00							
11	6	1.83							
4	2	2.00							
-	3	-							
-	3	-							
-	3	-							
-	3	-							
-	3	-							
-	3	-							
1,221		239.67							
1,221		239.67							

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

The weighted total points are divided by the sum of the weightings for the number of eligible tournaments to give the ranking points

31.50 30.17

u L	zkampie baseu i	JII MEHS 045	ranking	points 2019	1231
g	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	5 Spain	24.83	E	1	Current World Champions
	1 Netherlands	31.50	E	2	Highest ranked at last world cup
	6 Australia	20.00	AO	2	Highest ranked at last world cup
1	0 Ghana	8.33	AP	2	Highest ranked at last world cup
	3 Scotland	28.17	E	3	Current CC Champions
	9 New Zealand	14.00	AO	4	2nd highest ranked at last world cup - no regional cup
1	1 USA	7.00	AP	4	2nd highest ranked at last world cup - no regional cup
	2 England	30.17	E	5	Highest ranked not otherwised qualified country
	4 Germany	26.83	Е		
	7 France	17.50	Е		
	8 Ireland	16.00	Е		
1	2 Wales	6.50	Е		
1	3 Malaysia	5.00	AO		
1	4 Italy	1.83	Е		
1	5 Argentina	2.00	AP		
1	6 Belgium	0.00	Е		
1	6 Canada	0.00	AP		
1	6 Japan	0.00	AO		
1	6 Malaysia	0.00	AO		
1	6 Singapore	0.00	AO		
1	6 South Africa	0.00	AP		
		239.67			

Wo	mens - O50
Ranking	Country
1	Netherlands
2	England
	Ireland
4	Australia
5	Scotland
	USA
7	Argentina
	New Zealand
9	Wales
10	Germany
	South Africa
	Chile
13	Canada
14	Italy
15	Spain
16	France
17	Belgium
17	Japan
	Malaysia
	Singapore

Continental Cup - 2019					p - 2018	World Cu	·	Continental Cup - 2017				
Weighte Points	Weight	Allocated Points	Finished	Weighted Points	Weight	Allocated Points	Finished	Weighted Points	Weight	Allocated Points	Finished	
1:	3	50	1	48	2	24	5	50	1	50	1	
9	3	33	2	66	2	33	3	28	1	28	2	
	3	24	3	100	2	50	1	17	1	17	3	
				78	2	39	2	3.5	1	3.5	5	
	3	18	4	58	2	29	4	11	1	11	4	
				36	2	18	7					
				30	2	15	8					
				24	2	12	9					
	3			42	2	21	6	3.5	1	3.5	5	
;	3	13	5	16	2	8	11					
				20	2	10	10					
				8	2	4	13					
				6	2	3	14					
	3	4	7	2	2	1	16					
	3	0		12	2	6	12					
	3	1	8	4	2	2	15					
45		151		550		275		113		113		
Check		131		330		213		110		113		

3-Year Results										
Total	Total	Ranking Points								
Weighted	Weight	20191231								
Points										
248	6	41.33								
193	6	32.17								
189	6	31.50								
81.5	3	27.17								
123	6	20.50								
36	2	18.00								
30	2	15.00								
24	2	12.00								
69.5	6	11.58								
55	5	11.00								
20	2	10.00								
8	2	4.00								
6	2	3.00								
14	5	2.80								
12	5	2.40								
7	5	1.40								
1116		243.85								
1116		243.43								

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

	Country	Ranking		Division A	
g	Country	Points	rregion	DIVISION	INGASOIT
		20191231			
	0		_		Organist Mandal Observations
	3 Ireland	31.50			Current World Champions
	2 England	32.17			Highest ranked at last world cup
	4 Australia	27.17	AO	2	Highest ranked at last world cup
	6 USA	18.00	AP	2	Highest ranked at last world cup
	1 Netherlands	41.33	Ε	3	Current CC Champions
	7 Argentina	15.00	AP	4	2nd highest ranked at last world cup - no regional cup
	8 New Zealand	11.58	AO	4	2nd highest ranked at last world cup - no regional cup
	5 Scotland	20.50	Е	5	Highest ranked not otherwised qualified country
	9 Wales	11.58	Ε		
1	0 Germany	11.00	E		
1	1 South Africa	10.00	AP		
1	2 Chile	4.00	AP		
1	3 Canada	3.00	AP		
1	4 Italy	2.80	E		
1	5 Spain	2.40	E		
1	6 France	1.40	E		
1	7 Belgium	0.00	Е		
1	7 Japan	0.00	AO		
1	7 Malaysia	0.00	AO		
1	7 Singapore	0.00	AO		
		243.43			

Mens - O50			Continenta	I Cup - 201	7		World Cup - 2018				Continental Cup - 2019			
Ranking	Country	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	
1	Australia					1	50	2	100					
2	Netherlands	3	27	1	27	2	39	2	78	1	50	3	150	
3	Germany	2	35	1	35	3	33	2	66	2	36	3	108	
4	England	1	50	1	50	4	29	2	58	3	28	3	84	
5	Ireland	5	16	1	16	5	24	2	48	4	22	3	66	
6	New Zealand					6	21	2	42				-	
7	Scotland	4	21	1	21	9	12	2	24	5	17	3	51	
8	Spain	6	11	1	11	7	18	2	36	7	9	3	27	
9	South Africa					10	10	2	20					
10	Wales	9	1	1	1	12	6	2	12	6	13	3	39	
11	France	8	4	1	4	8	15	2	30	9	3	3	9	
12	Italy	7	7	1	7	13	4	2	8	8	6	3	18	
13	USA					11	8	2	16	10	1	3	3	
14	Canada					14	3	2	6					
15	Zimbabwe					15	2	2	4					
16	Argentina					16	1	2	2					
			172		172		275		550		185		555	

3-	Year Result	s		
Total	Total	Ranking		
Weighted	Weight	Points		
Points		20191231		
100	2	50.00		
255	6	42.50		
209	6	34.83		
192	6	32.00		
130	6	21.67		
42	2	21.00		
96	6	16.00		
74	6	12.33		
20	2	10.00		
52	6	8.67		
43	6	7.17		
33	6	5.50		
19	5 2	3.80		
6	2	3.00		
4	2 2	2.00		
2	2	1.00		
1,277		271.47		
1,277		271.47		

1,277

Check

Notes:

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

Worked Example Based on Mens O50 ranking points 20191231 Seeding Country Ranking Region Division A Rea

ng	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	1 Australia	50.00	AO	1	Current World Champions. There was no division B previously so no qualifier
	2 Netherlands	42.50	E	2	! Highest ranked at last world cup
	6 New Zealand	21.00	AO	2	Highest ranked at last world cup
	9 South Africa	10.00	AP	2	Highest ranked at last world cup
	3 Germany	34.83	E	4	Highest in last CC not otherwise qualified country
	4 England	32.00	E	5	Highest ranked not otherwise qualified country
	5 Ireland	21.67	E	5	Next highest ranked not otherwise qualified country
	7 Scotland	16.00	E	5	Next highest ranked not otherwise qualified country
	8 Spain	12.33	E		
1	I0 Wales	8.67	E		
1	11 France	7.17	E		
1	12 Italy	5.50	E		
	I3 USA	3.80	AP		2nd highest ranking - do not qualify for Division A as not in top 12.
1	14 Canada	3.00	AP		
1	15 Zimbabwe	2.00	AP		
1	16 Argentina	1.00	AP		
		271.47			

AO would have been entitled to a third team in division A if they had another team in the top 12 in the WRL.

The USA miss out on Division A as they are not in the top 12.

If the AO and AP teams had been in the top 12 Ireland and Scotland would have missed out on division A.

Woi	mens - O55
Ranking	Country
-	-
1	England
2	Australia
3	Scotland
4	Netherlands
5	Ireland
	Wales
-	New Zealand
	USA
-	Canada
	Germany
	Argentina
	Belgium
	France
	Italy
	Japan Malausia
	Malaysia
	Singapore
	South Africa
11	Spain

	Continental	l Cup - 201	17		World Cu	p - 2018		Continental Cup - 2019			
Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
1	50	1	50	1	50	2	100	1	50	3	150
				2	35	2	70				
3		1	13	3	27	2	54				
4		1	6	5	16	2	32			3	
2			25	4	21	2	42			3	
5	1	1	1	6	11	2	22		11	3	33
				7	7	2	14				
				8	4	2	8				
				9	1	2	2	6	1	3	3
	95		95		172		344		113		339 Check

Total Weighted Points	00 7 33 7 30 00 00
Weighted Points Weight 20191231 300 6 50.0 70 2 35.0 151 6 25.1 89 6 14.8 85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	00 7 33 7 30 00 00
Points 300 6 50.0 70 2 35.0 151 6 25.1 89 6 14.8 85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	7 33 7 30 00 00
300 6 50.0 70 2 35.0 151 6 25.1 89 6 14.8 85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	7 33 7 30 00 00
70 2 35.0 151 6 25.1 89 6 14.8 85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	7 33 7 30 00 00
151 6 25.1 89 6 14.8 85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	7 33 7 30 00 00
89 6 14.8 85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	33 7 33 00 00
85 6 14.1 56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	7 33 00 00
56 6 9.3 14 2 7.0 8 2 4.0 2 2 1.0	33 00 00
14 2 7.0 8 2 4.0 2 2 1.0	00
8 2 4.0 2 2 1.0	00
2 2 1.0	0
3 3 1.0	00
778 161.5	
778 161.5	0

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

u L	zzampie baseu i	on womens c	JJ Talik	ing points z	0191231
ng	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	1 England	50.00	E	1	Current World Champions
	2 Australia	35.00	AO	2	2 Highest ranked at last world cup
	3 Scotland	25.17	E	2	2 Highest ranked at last world cup
	8 USA	4.00	AP	2	2 Highest ranked at last world cup
	4 Netherlands	14.83	E	4	Highest in last CC not otherwised qualified country
	7 New Zealand	7.00	AO	4	1 2nd highest ranked at last world cup - no regional cup
	9 Canada	1.00	AP	4	1 2nd highest ranked at last world cup - no regional cup
	5 Ireland	14.17	E	5	5 Highest ranked not otherwised qualified country
	6 Wales	9.33	E		
1	0 Germany	1.00	E		
1	1 Argentina	0.00	AP		
1	1 Belgium	0.00	E		
1	1 France	0.00	E		
1	1 Italy	0.00	E		
1	1 Japan	0.00	AO		
1	1 Malaysia	0.00	AO		
1	1 Singapore	0.00	AO		
1	1 South Africa	0.00	AP		
1	1 Spain	0.00	E		
	•	161.50			

M	ens - O55		Continenta	l Cup - 201	17		World Cu	ıp - 2018		(Continental Cup - 2019			
Ranking	Country	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	
1	Germany	2	31	1	31	2	38	2	76	1	50	3	150	
2	England	3	21	1	21	1	50	2	100	2	35	3	105	
3	Netherlands	1	50	1	50	3	32	2	64	3	27	3	81	
4	Australia				-	5	23	2	46				-	
5	Malaysia				-	6	20	2	40				-	
6	Spain				-	7	17	2	34	5	16	3	48	
7	Scotland	5	10	1	10	9	11	2	22	4	21	3	63	
8	Italy	6	5	1	5	4	28	2	56	6	11	3	33	
9	USA				-	8	14	2	28				-	
10	New Zealand				-	10	9	2	18				-	
11	France				-	11	7	2	14	7	7	3	21	
12	Wales	4	15	1	15	13	3	2	6	8	4	3	12	
13	Argentina				-	12	5	2	10				-	
14	South Africa				-	14	2	2	4				-	
	Ireland	7	1	1	1	15	1	2	2	9	1	3	3	
	Belgium				-				-			3	-	
16	Canada				-				-			3	-	
16	Japan				-				-			3	-	
16	Malaysia				-				-			3	-	
16	Singapore				-				-			3	-	
			133		133		260		520		172		516	

3-	Year Result	ts
Total	Total	Ranking
Weighted	Weight	Points
Points		20191231
257	6	42.83
226	6	37.67
195	6	32.50
46	2	23.00
40	2	20.00
82	5	16.40
95	6	15.83
94	6	15.67
28	2	14.00
18	2	9.00
35	5	7.00
33	6	5.50
10	2	5.00
4	2	2.00
6	6	1.00
-	3	-
-	3	-
-	3 3 3 3	-
-		-
-	3	-
1,169		247.40
1,169		247.40

Notes:

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

The weighted total points are divided by the sum of the weightings for the number of eligible tournaments to give the ranking points

a	xampie Based	on wens Obb	•	•	
ng	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	2 England	37.67	E	1	Current World Champions
	1 Germany	42.83	E	2	Highest ranked at last world cup
	4 Australia	23.00	AO	2	Highest ranked at last world cup
	9 USA	14.00	AP	2	Highest ranked at last world cup
	3 Netherlands	32.50	E	4	Highest in last CC not otherwised qualified country
	5 Malaysia	20.00	AO	4	2nd highest ranked at last world cup - no regional cup
	6 Spain	16.40	Е	5	Highest ranked not otherwised qualified country
	7 Scotland	15.83	Е	5	Highest ranked not otherwised qualified country
	8 Italy	15.67	Е		
1	0 New Zealand	9.00	AO		
1	1 France	7.00	Е		
1	2 Wales	5.50	Е		
1	3 Argentina	5.00	AP		2nd Highest ranked at last world cup - no regional cup but outside top 12
1	4 South Africa	2.00	AP		
1	5 Ireland	1.00	E		
1	6 Belgium	0.00	Е		
1	6 Canada	0.00	AP		
1	6 Japan	0.00	AO		
1	6 Malaysia	0.00	AO		
1	6 Singapore	0.00	AO		
		247.40			

Wo	mens O60
Ranking	Country
	England
	Argentina
3	Wales
	New Zealand
5	Scotland
6	Netherlands
6	Australia
7	Belgium
7	Canada
7	France
7	Germany
7	Ireland
7	Italy
7	Japan
7	Malaysia
	Singapore
	South Africa
7	Spain
	USA

	Continental			·	World Cu			Continental Cup - 2019			
Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
1	50	1	50	1	50	2	100	1	50	3	150
	00		00	2					00	Ü	100
							0.0	2	20	3	60
3	1	1	1	2	15 10		30 20		10	3	30
3	15	1	15		1	2	2			3	3
				3	1	2	2				
	66		66		97		194		81		24

	3-Year Re	sults
Total	Total	Ranking Points
Weighted	Weight	20191231
Points		
300	6	50.00
40	2	20.00
60	3	20.00
30	2	15.00
51	6	8.50
20	6	3.33
2	2	1.00
503		117.83

117.83

WC 2018 4 team competition at WGMA and 3 Team competition at IMHA. Scored each of them separately.

Only 97 points and not 81+66 (147) as England got 50 at both.

	Country	Ranking	Region	Division A	Reas
		Points			
		20191231			
1	England	50.00	E		
2	Argentina	20.00	AP		
3	Wales	20.00	Е		
4	New Zealand	15.00	AO		
5	Scotland	8.50	Е		
6	Netherlands	3.33	Е		
7	Australia	1.00	AO		
7	Belgium	0.00	Е		
7	Canada	0.00	AP		
7	France	0.00	Е		
7	Germany	0.00	Е		
7	Ireland	0.00	Е		
7	Italy	0.00	Е		
7	Japan	0.00	AO		
7	Malaysia	0.00	AO		
7	Singapore	0.00	AO		
7	South Africa	0.00	AP		
7	Spain	0.00	E		
7	USA	0.00	AP		
		117.83			

Insufficient teams for divisions

N	lens O60
Ranking	Country
_	
1	England
2	Netherlands
3	Germany
4	Australia
5	Scotland
6	New Zealand
7	Belgium
	Spain
9	Wales
10	Ireland
11	Japan
12	South Africa
13	USA
14	Singapore
	Argentina
	Italy
	Canada
	France
19	Malaysia

	Continental	Cup - 201	7	World Cup - 2018				Continental Cup - 2019			
Finished	Allocated	Weight	Weighted	Finished	Allocated	Weight	Weighted	Finished	Allocated	Weight	Weighted
	Points		Points		Points		Points		Points		Points
1	50	1	50	2	40	2	80		50	3	
2	36	1	36	1	50	2	100			3	
3	28	1	28	3	34	2	68	4	22	3	66
				5	26	2	52				
7	9	1	9	6	23	2	46		28	3	84
				8	17	2	34				
5		1	17	10	12	2	24			3	
6	13	1	13	4	30	2	60	8	6	3	
8	6	1	6	7	20	2	40		13	3	
4	22	1	22	9	14	2	28	7	9	3	27
				11	10	2	20				
				12	8	2	16				
				13	6	2	12				
				14	5	2	10				
				16	3	2	6				
9	3	1	3	15	4	2	8	10	1	3	3
				17	2	2	4				
10	1	1	1	18	1	2	2	9	3	3	9
	405		405		005		010		405		
	185		185		305		610		185		555

	3-Year Re	sults
Total	Total	Ranking Points
Weighted	Weight	20191231
Points		
280	6	46.67
244	6	40.67
162	6	27.00
52	2	26.00
139	6	23.17
34	2	17.00
92	6	15.33
91	6	15.17
85	6	14.17
77	6	12.83
20	2	10.00
16	2	8.00
12	2	6.00
10	2	5.00
6	2	3.00
14	6	2.33
4	2	2.00
12	6	2.00
1350		276.33
1350		276 33

1350 276.33

Notes:

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

z u ⊏.	kampie baseu i	on wens doo	ranking	poirits 2019	1231
ng	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
2	Netherlands	40.67	E	1	Current World Champions
1	England	46.67	E	2	! Highest ranked at last world cup
4	l Australia	26.00	AO	2	! Highest ranked at last world cup
12	South Africa	8.00	AP	2	! Highest ranked at last world cup
5	Scotland	23.17	E	3	Highest in last CC not otherwised qualified country
6	New Zealand	17.00	AO	4	2nd highest ranked in region - no regional cup
3	3 Germany	27.00	E	5	Highest ranked not otherwised qualified country
7	' Belgium	15.33	E	5	Highest ranked not otherwised qualified country
8	3 Spain	15.17	Е		
ç) Wales	14.17	E		
10	Ireland	12.83	E		
11	Japan	10.00	AO		
13	USA	6.00	AP		2nd highest ranking - do not qualify for Division A as not in top 12.
14	Singapore	5.00	AO		
15	Argentina	3.00	AP		
16	ltaly	2.33	E		
17	' Canada	2.00	AP		
18	France	2.00	E		
19) Malaysia	0.00	AO		
	-	276.33			

M	lens O65
Ranking	Country
	·
1	Netherlands
	Australia
	England
-	Wales
	Germany
_	New Zealand
	Japan
8	Spain
_	Scotland
	Ireland
11	Belgium
	South Africa
	France
14	Italy
15	Argentina
	Canada
15	Malaysia
15	Singapore
15	USA

Continental Cup - 2017 Finished Allocated Weight Weighted				World Cup - 2018				Continental Cup - 2019			
Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points	
50	1	50	7	16	2	32	1	50	3	15	
			2	38	2						
	1		1							10	
	1		3							6	
31	1	31	8					27	3	8	
										:	
	1	10								4	
	1	1								;	
5	1	5					8	4	3		
							_		_		
					2		9	1	3		
			14	1	2	2					
133		133		248		496		172		5	
	Allocated Points 50 21 15 31 5 5	Allocated Points 50 1 21 1 15 1 31 1 10 1 1 1 5 1	Allocated Points Weight Points Weighted Points 50 1 50 21 1 21 15 1 15 31 1 31 10 1 10 1 1 1 5 1 5	Allocated Points Weighted Points Finished Points 50 1 50 7 2 21 1 21 1 15 1 15 3 31 1 31 8 5 6 4 10 1 10 10 1 1 1 11 5 1 5 9 12 13 14	Allocated Points	Allocated Points	Allocated Points	Allocated Points	Allocated Points	Allocated Points Weight Points Finished Points Weight Points	

3-Year Results								
Total	Total	Ranking Points						
Weighted	Weight	20191231						
Points								
232	6	38.67						
76	2	38.00						
226	6	37.67						
142	6	23.67						
138	6	23.00						
44	2	22.00						
38	2	19.00						
75	5	15.00						
74	6	12.33						
46	6	7.67						
37	6	6.17						
8	2	4.00						
7	5	1.40						
2	2	1.00						
1145		249.57						
1145		249.57						

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

a F	:xampie Based (on Mens Ob5	ranking	points 2019	1231
ng	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
	3 England	37.67	E	1	Current World Champions
	2 Australia	38.00	AO	2	Highest ranked at last world cup
	4 Wales	23.67	E	2	Highest ranked at last world cup
1:	2 South Africa	4.00	AP	2	Highest ranked at last world cup
	1 Netherlands	38.67	E	3	Continental Champions
	6 New Zealand	22.00	AO	4	2nd highest ranked at last world cup - no regional cup
;	5 Germany	23.00	E	4	Highest in last CC not otherwised qualified country
	7 Japan	19.00	AO	5	Highest ranked not otherwised qualified country
	8 Spain	15.00	Е		
!	9 Scotland	12.33	E		
1	0 Ireland	7.67	E		
1	1 Belgium	6.17	E		
1	3 France	1.40	E		
1	4 Italy	1.00	E		
1	5 Argentina	0.00	AP		
1	5 Canada	0.00	AP		
1	5 Malaysia	0.00	AO		
1	5 Singapore	0.00	AO		
1	5 USA	0.00	AP		
		249.57			

	lens O70
Ranking	Country
1	England
2	Australia
3	Netherlands
4	Germany
5	Wales
6	South Africa
7	Italy
8	Belgium
9	Scotland
10	Japan
	Argentina
12	Ireland
13	Canada
13	France
13	Malaysia
	New Zealand
13	Singapore
	Spain
	USA

Continental Cup - 2017					World Cup - 2018			Continental Cup - 2019			
Finished	Allocated Points	Weight	Weight ed Points	Finished	Allocated Points	Weight	Weighted Points	Finished	Allocated Points	Weight	Weighted Points
1	50	1		1	50	2		1	50	3	150
2	28	1	28	2	36 29	2 2	72 58	2	33	3	99
3	17	1		4	29	2	48				72
4		1		5	19	2	38			3	54
				6	15	2	30				
0	4	4	4	10	3	2	6	5			
6 5	1 6	1		7 8	11 8	2 2	22 16	6 7	8 4	3	24 12
Ü	Ū		Ü	9	5	2	10			Ü	12
				11	1	2	2				
								8	1	3	3
	113		113		201		402		151		453

3-Year Results						
Total	Total	Ranking Points				
Weighted	Weight	20191231				
Points						
300	6	50.00				
72	2	36.00				
185	6	30.83				
137	6	22.83				
103	6	17.17				
30	2	15.00				
45	5	9.00				
47	6	7.83				
34	6	5.67				
10	2	5.00				
2	2	1.00				
3	3	1.00				
968		201.33				
968		201.33				

Notes:

Earliest competition (2017) weighted by 1, the next (2018) by 2, and the latest competition (2019) by 3.

d Example based on Meris 1070 ranking points 20191231					
g	Country	Ranking	Region	Division A	Reason
		Points			
		20191231			
1	England	50.00	E	1	Current World Champions
2	? Australia	36.00	AO	2	Highest ranked at last world cup
3	Netherlands	30.83	E	2	Highest ranked at last world cup
6	South Africa	15.00	AP	2	Highest ranked at last world cup
4	Germany	22.83	E	4	Highest in last CC not otherwised qualified country
10) Japan	5.00	AO	4	2nd highest ranked at last world cup - no regional cup
11	Argentina	1.00	AP	4	2nd highest ranked at last world cup - no regional cup
5	Wales	17.17	E	5	Highest ranked not otherwised qualified country
7	' Italy	9.00	E		
8	Belgium	7.83	E		
9	Scotland	5.67	E		
12	! Ireland	1.00	Е		
13	Canada	0.00	AP		
13	France	0.00	Е		
13	8 Malaysia	0.00	AO		
13	New Zealand	0.00	AO		
13	Singapore	0.00	AO		
13	S Spain	0.00	E		
13	USA	0.00	AP		
		201.33			